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1) Fill in the student ID number and name on the answer sheet °

2) Answer all questions in English (ignore the grammar and spelling) °

3) Answer each question in the order it appears ° The total score is 120.

(1)

(2)

(3)

(4) It is recommended to use a dark ballpoint pen ° (pencil is allowed)

(5) The calculation process (for parts IV and V) is required (calculate to 4 decimal places) °
(6)

6) Return both the answer sheet and the question sheet.

(-) Declaration (0%): Please transcribe the following oath onto the first page of the answer sheet in either
Chinese or English. (ER MIEEBRAEEESME—E L) ° (10 points will be deducted if not
written.) (AEH 10 7)

0. ” RAHEER BREBSEZARA  FNER  BERLREEBES - 2E -7

"I (your name here) will strictly adhere to all examination rules. If I break this oath, I am willing to

accept the most severe punishment imposed by the school. Solemnly sworn.”
(I) Multiple choice (20%, 5% each); select one correct answer.

1. A sample of 15 children shows their favorite kind of pet:
Dog, Gerbil, Cat, Fish, Dog, Dog, Gerbil, Cat, Dog, Cat, Lizard, Fish, Dog, Fish, Dog.
Which of the following displays is most appropriate for this data? (A). Side-by-side bar chart (B).
Histogram  (C). Stacked bar chart (D). Pie chart

2. Histograms based on data on housing prices and salaries typically are (A). skewed to the left. (B).
skewed to the right. (C). stacked. (D). symmetric.

3. The measure of location which is the most likely to be influenced by extreme values in the data set is
the (A). range. (B). median. (C). mode. (D). mean.

4. Statements about the proportion of data values that must be within a specified number of standard
deviations of the mean can be made using (A). Chebyshev’s theorem. (B). The empirical rule. (C).

A five-number summary. (D). Percentiles.
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(II) Fill-in-the-blank (Correct spelling should be used if possible.) (20%, 10% each)

5. The growth factors in the population of Dalton for the past three years are shown below.
Year 1: 1.0313; Year 2: 1.0429; Year 3: 1.0343.

What has been the percentage growth in the population of Dalton?

6. Let the ith data value of the variable x denotes by x;. The z-score is often called the

value of z;. The formula is:
(IIT) Short answer (20%, 10% each)(write down the statement (or definition), formula if any, interpretation)
7. What is the Chebyshev’s theorem?
8. What is the Covariance?
(IV) Calculation (40%, 20% each)

9. Apple iPads in Schools. The New York Times reported that Apple has unveiled a new iPad
marketed specifically to school districts for use by students (The New York Times website). The
9.7-inch iPads will have faster processors and a cheaper price point in an effort to take market share
away from Google Chromebooks in public school districts. Suppose that the following data represent
the percentages of students currently using Apple iPads for a sample of 18 U.S. public school districts.
(z = 24.67,s = 11.87)

15, 22, 12, 21, 26, 18, 42, 29, 64, 20, 15, 22, 18, 24, 27, 24, 26, 19

(a) Compute the first and third quartiles for these data.

(b) Identify the outliers in these data if any. (The calculation process is required)
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(V) Bonus (20%)

10. Jason just completed 15 credit hours at a local college. His grade report is presented below

Course: Calculus Biology FEnglish Music P.E.
Credit Hours: ) 4 3 2 1
Grades: C A D B A

The local university uses a 4 point grading system, i.e., A=4,B=3,C=2,D=1,F =0. Compute
Jason’s semester grade point average

<The blank pages at the back can be used as scratch paper. (BEZHEJE5EA)>
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